ADJUSTABLE ROLLER CARRIER
ATTACHED W/ (@ 5/16" x
3/4° BOLT & NUT PER

BRACKET

37 20GA. STRUTS ATTACHED
W/ (@ 1/4" x 3/4°

14GA. CENTER HINGE
ATTACHED W/ (4> 1/4°
x 3/4° HEX HEAD SCREWS

A < M6S0)
24 GA SKIN (M950>

2 13 GA COMMERCIAL

TOP FIXTURE ATTACHED W/

(4> 1/4" x 3/4° HEX HEAD SCREWS
N ADJUSTABLE SLIDE BRACKET ATTACHED
W/(2> 5/16" x 3/4" BOLT AND NUTS

13 GA. GALV. COMMERCIAL

TOP ROLLER BRACKET

ATTACHED W/(4> 1/4" x
3/4" HEX HEAD SCREWS
PER BRACKET

TYPICAL TOP FIXTURES

®

Q

HEX HEAD SCREWS AT i
EACH CENTER STILE —

SEE PAGE 2 FOR OPTIONAL
GLAZED SECTIONS STRUT
AND STILE LAYDUT

N.T.S.

[ LOCATED IN HINGE HDLE(S>

STILE STIFFENERS (5

ON TOP SECTION DNLY i

SPLICE TRACKS AT THIS LOCATION
W/(4) 1/4"-20 TRACK. SPLICE
BOLTS & NUTS, SECURE TO JAMB
WITH (3) 5/16" DIA. X 1-5/8"

SEE (TABLE 2> ON PAGE 3 FOR
I_RECEIMMENDED SECTION CONFIGURATION

1 (-]
Q TYPICAL CENTER HINGE @

N.T.S.

EMBOSSMENTS
NOT SHOWN
FOR CLARITY

HOLES FOR STRUT ‘,
ATTACHMENT (IF STRUT
¢ 1S REQIURED) s

(SPLICE>

LAG BOLTS

(1) 5/16” DIA. x 1-5/8"

END_HINGE c
14 GA (THROUGH>
&

N.T.S.

SEE TABLE 4 ON PAGE 3 |[_
FOR STILE PLACEMENTS

16/~0* MAX

-—SEE (TABLE 1> PAGE 3
FOR STRUT SPACING

TYPICAL STILE STIFFENER@

12 GA. GALV. STEEL
JAMB BRACKETS

OR (2) RIVETS

3° x 20 GA. STRUTS
(2> PER SECTION
(EXCLUDING TOP>
<1> ON TOP SECTION

—

OTTOM BRACKET
ATTACHED

1

1 SEE (TABLE 3> ON PAGE 3
FOR JAMB BRACKET SPACING

ATTACHED W/ (1) 1/4"—20
TRACK SPLICE BOLT & NUT

LAG BOLT ATTACHED TO JAMB
%/ AT EA. JAMB BRACKET

INSIDE ELEVATION

N.T.S.

3 20GA. STRUT
ATTACHED W/

@ 1/4* X 3/74*
HEX HEAD SCREWS
AT END AND CENTER

BOTTOM BRACKET

W/ (3) 1/4" x 3/4"
HEX HEAD SCREWS

CONT. STEEL RETAINER

TRACK CONFIGURATION FOR 66" UP TO 14’ TALL DOORS

N.T.S.

3° 20GA, STRUTS
ATTACHED W/ @
174’ x 3/4* HEX
HEAD SCREWS AT
EACH END STILE

TYPICAL END HINGE

14 GA, END HINGE
ATTACHED W/ &
174" x 3/4°

HEX HEAD SCREWS

14GA., ROLLER CARRIERS ATTACHED
TO END STILE W/ (2 1/4° x 3/4*
HEX HEAD SCREWS PER CARRIER

2 10 BALL STEEL DR
10 BALL NYLON ROLLER
W/5" STEM

(1) 5/16" DIA. x 1-5/8"
LAG BOLT ATTACHED TO JAMB
/ AT EA. JAMB BRACKET

20 GA CENTER STILES—\
L ,

2 X 6 SYP OR SPF

(NO. 2 OR BETTER)\

/

, 7

:N /
20 GA. GALV. STEEL
STILE

END

/7

7/16" DIA. BOLT RETAINER

1/4-20 x 5/B"TRACK
SPLICE BOLT AND NUT
OR (2> RIVETS

TRACK MOUNTIN

(1) PER ROLLER

2" GALV. STEEL TRACK
TRACK THICKNESS .063"

G DETAIL

N.T.S.

14 GA. THICK ATTACHED
W/(3> 174* X 3/4*
HEX HEAD SCREWS

STILES  f——

27 10 BALL STEEL OR
10 BALL NYLON ROLLER
W/S" STEM

TYPICAL BOTTOM BRACKET 4
N.T.S.

LARGE MISSILE
IMPACT RESISTANT

THE METHOD OF TESTING WAS IN SUBSTANTIAL
CONFORMANCE WITH THE PROCEDURE DESCRIBED IN ASTM
E330 AND DASMA 108. THE PRESSURES SHOWN ON THE
DRAWINGS. WERE CALCULATED USING ASCE 7-98/02/05 WITH
THE FOLLOWING PARAMETERS (5 FEET OF DOOR WIDTH IN
THE END ZONE, ROOF AT ANY SLOPE, AND I=1.0):

WIND SPEED (MPH) 130 118 12 107 103

EXPOSURE LEVEL B C C D D

MEAN ROOF HEIGHT | 30’ 15’ 25’ 15’ 25’

~ W,/ CONT. BTM SEAL

SECTION A—A (SIDE VIEW)
N.T.S.
INTERIOR OF GARAGE
—={  MAX. WIDTH 16'0"  |=—
pesioN Loaps [ | | | [ {111 11]

+204.8 LBS/FT

-232.8 LBS/FT  SEE NOTE 2

SPECIFICATIONS AND NOTES

1. ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE VERTICAL TRACK,
FROM THE TRACK THE LOAD IS TRANSFERRED TO THE VERTICAL JAMBS.
THE HORIZONTAL JAMB OR HEADER RECEIVES NO PORTION OF THE LOAD
TRANSFERRED FROM THE DOOR.

2. EACH VERTICAL JAMBS RECEIVES MAXIMUM DESIGN LOADS OF:

+204.8 LBS/FT & =-232.8 LBS/FT

3. DOORS AND HARDWARE WILL BE DESIGNED, MANUFACTURED

AND INSTALLED WITH STANDARDS AS SET FORTH BY DASMA.

4. DOOR SECTIONS SHALL BE 25 GA. MIN. (.019") ROLLED FORMED LIGHT
COMMERCIAL QUALITY

5. SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED

BY A REGISTRED PROFESSIONAL ENGINEER FOR WIND LOADS

INDICATED ON THIS DRAWING iN ADDITION TO OTHER LOADINGS.

6. AMARR MANUFACTURES AND DISTRIBUTES GARAGE DOORS UNDER MANY
BRAND LABELS. PLEASE SEE AMARR—MANUFACTURED PRIVATE LABEL CHART
FOR REFERENCE OF EQUIVALENT PRODUCTS FOR WINDLOAD APPROVAL.

7. REFER TO TABLES ON THE PAGE 3 FOR ADDITIONAL DOOR WIDTHS

8. PANEL STAMP DOES NOT EFFECT WINDLOAD CAPABILITIES.

REV_| DESCRIPTION OF REVISIONS {oaE ey

A | WIND SPEED TABLE & TRACK CONFIGURATIONS | 04/30/12[RIR

B | ADDED GLAZNG NOTE 12/20/12[RLR
MAX SIZE | & gg

6 WDTH_ |38 ~N g

14" HEIGHT | B3 ~“;;_\0\F;'\5 M £8
= 7 N Sy ", \ 2%
e P P R SN N
WEIGHT LIMITATIONS)| ﬁ g .g.a
DESIGN LOADS| o= S§
+25.6 PSF |52 S 55
-29.1 PSF |£& 2g
TEST LOADS OEJ Ué ----------------------------- :;;
+38.4 PSF |33 3%
-43.7 PSF |43 (4
LARGE | &£ gz
WS 1EE L NS
resisTANT |5 T X 83

arry

165 CARRIAGE COURT WINSTON-SALEM, N.C. 27105

MODEL #650 OAK SUMMIT SERIES 1000 & 2000
MODEL #600 STRATFORD SERIES 1000 & 2000
MODEL #950 HERITAGE SERIES 1000 & 2000

SZE| DRAWNBY  BHG| DATE 11/13/09
B | ciecken Y cBT| DATE 11/13/09

DRAWING NUMBER

IRC-6016-130-15-1

SHEET 1 OF 3




033’ GALV STEEL INTERIOR IMPACT WINDOW FRAME
033 GALV STEEL EXTERIOR IMPACT WINDOW FRAME W/.5° BITE ON GLASS

DECORATIVE PLASTIC I EC 10N
MOLDED EXTERIOR WINDOW FRAM

5/16" OVERALL

1/87 CLEAR ANNEALED GLASS
,090°° PVB INTERLAYER
/1/8' CLEAR ANNEALED GLASS

E 25 GA. STEEL DODOR SKIN

MANUFACTURED BY GUARDIAN

STRUCTURAL ADHESIVE

2. 3/16” X 1/2* SCREW - USED 1O
FASTEN THE STEEL EXTERIOR IMPACT WINDOW FRAME TO
THE STEEL INTERIOR IMPACT WINDOW FRAME.

3. 11/64* X 1/2° SCREW - USED TD fASTEN DECORATIVE PLASTIC MOLDED
WINDOW FRAME TO THE ASSEMBLY

SECTION B-B IMPACT WINDOW DETAIL

N.T.S.

IMPACT GLAZING FASTENER DETAIL
N.T.S.

TOP SECTION

INTERMEDIATE SECTION

OPTIONAL SHORT PANEL GLAZED SECTION STRUT AND STILE LAYOUT

3’ 20GA. STRUT LOCATED AT THE TOP
AND BOTTOM DOF GLAZED SECTION
ATTACHED W/ 174" X 3/4" HEX
HEAD SCREWS AT END AND CENTER
STILES

WOOD JAMB ATTACHMENT TO STRUCTURE

2. X 6 VERTICAL JAMB ATTACHMENT TO WOOD FRAME STRUCTURE
5716 X 3° LAG SCREWS STARTING 6 FROM ENDS THEN 24° O.C. <1 1/2° EMBEDMENT>
AMB ATTACHMENT P T
HILTI KWIK BOLT 3/8° X 4 STARTING 6° FROM ENDS THEN 24 OC. (2 1/2° EMBEDMENT)

HILTI SLEEVE ANCHOR 3/8" X 2-3/4" STARTING 6’ FROM ENDS THEN 20“ O.C. <1 1/4° EMBEDMENT)
ITW/RAMSET REDHEAD (TRU-BOLT> 3/8" X 4 STARTING 6’ FREIM ENDS THEN 247 O.C. <2 1/2' EMBEDMENT>

X 6 VERTICA M T N
SIMPSDON 174 X 3* TITEN SCREWS STARTING 6* FRDM ENDS USE PAIRS OF FASTENERS
(3" APART> AT 16” OC. (1 1/2° EMBEDMENT>
HILTI 1/4* X 2-3/4° KWIK-CON II+ SCREWS STARTING 6’ FROM ENDS, USE PAIRS OF
FASTENERS (3“ APART) AT 16" DO.C. <1 1/4" EMBEDMENT)

X 6 VERTICAL JAMB ATT NT T = K P ROUTD
HILTI SLEEVE ANCHOR 3/8" X 2-3/4" STARTING 6’ FROM ENDS THEN 24° OC. (1 1/4°
EMBEDMENT> (OR, USE FASTENERS FOR HOLLOW C-90 BLOCK)

*LAGS AND BOLTS CAN BE COUNTERSUNK TO PROVIDE A FLUSH MOUNTING SURFACE.
*PREPARATION DF wWDOD JAMBS BY OTHERS

A 1

A} A
HOLLOW BLOCK GROUTED BLOCK

. waoD CONCRETE
= STRUCTURE STRUCTURE STRUCTURE STRUCTURE
b3 r M r
&
1 \ 1 . \
= = ]
= - LJ L j - )
1/72* MIN 2-3/4" MIN 1-1/2* [MIN 4
2X6 JAMB
TYP. 3 MIN
REV | DESCRPTION OF REVISIONS DAE gy
A | WIND SPEED TABLE & TRACK CONFIGURATIONS | 04/30/12[RIR
B | ADDED GLAZING NOTE 12/20/22]RIR
_ e
16 wom_ | 28 ~K
14" HEIGHT | 33 £9
(DOOR HEIGHT | =7 A
SUBJECT TO W O3
WEIGHT LIMITATIONS) x E %ﬁ
DESIGN LOADS| & S5
+25.6 PSF | GE 506
-29.1 PSF | £& 2g
= oz
TEST LOADS | €5 3
+38.4 PSF | &5 33
-43.7 PSF |38 T
LARGE 2t g3
RESISTANT |~ % £3
-
5
2 ari
3 ,
é g 165 CARRIAGE COURT WINSTON-SALEM, N.C. 27105
a
MODEL #650 OAK SUMMIT SERIES 1000 & 2000
MODEL #600 STRATFORD SERIES 1000 & 2000
MODEL #950 HERITAGE SERIES 1000 & 2000
i I SZE| DRAWNBY  BHG| DATE 11/13/09 DRAWNG NUWBER
AVAILABLE TRACK CONFIGURATIONS B | coEckmBy cBT| DATE 1/13/09 IRC-6016-130-15-1
TS SHEET 2 OF 3




TABLE 1

TABLE 4

TOP

Center Stile Locations

REV | DESCRPTON OF REVSONS DAE__[BY

A | WIND SPEFD TABLE & TRACK CONFIGURATIONS | 04/30/12|RIR

B | ADDED GLAZNG NOTE 12/20/12{RR
=
MAX SIZE | =@ £5
16" WDTH_ | 28 oR
14’ HEIGHT | 53 < £¢
(DOOR HEIGHT | I PN g5
SUBJECT TO a * - A G5
WEIGHT LIMITATIONS)| < g ; %. ‘é@
DESIGN LOADS| wx 2.7 28
+25.6 PSF | g frescteessfloneconndd 9 56
-29.1 PSF | 5& A THONASL. SHELMERDINEY  £¢
TEST LOADS g é ’.. .:;, ..é.éus..éug. .......... // E i
+38.4 PSF | ©5 1% s&7 8T
~43.7 PSF | ©§ /}(%,o;:--f!c‘sns&‘?. & Tl
LARGE Q'_f L} SSI"""“ “ - 5o
MISSILE | & WOONALE 3
IMPACT £5 P
RESISTANT @ TX =

Awmary

165 CARRIAGE COURT WINSTON-SALEM, N.C. 27105

MODEL #650 OAK SUMMIT SERIES 1000 & 2000
MODEL #600 STRATFORD SERIES 1000 & 2000
MODEL #950 HERITAGE SERIES 1000 & 2000

DOOR STRUT SPACING (BASED ON RECOMMENDED SECTION CONFIGURATION) Section P
HEIGHT| A B C D E F G H [ J K L M N T G| Panel Type [ (Messucd fom e Edg3)
6'6" |[51/2"118 1/4"125 1/2"{36 1/4"{43 1/2" |54 1/4" 67 1/2" ) @)} @) | Gn) | Gn) | Gn)
770" |5 1/2"|18 174" |25 1/2"| 39 1/4" |46 1/2"|60 1/4" 73 172" 100 | Sho _[48.47| 7150
76" |51/2°|15 1/4"|22 172" | 33 1/4"|40 1/2"| 511/4" |58 1/2" |69 1/4" 81" L
80" |51/2"|18 1/4"125 1/2" {36 1/4"{43 1/2"|54 1/4" |61 1/2"|72 1/4" 85 1/2" 12°0 Short  |48.81] 72.00| 95.19
8'6" |5 1/2"]18 1/4"[25 1/2"[39 1/4"| 46 1/2"|60 1/4"|67 1/2"[78 1/4" 91 172" e
. . . _ - s - : 7270 |Oak Summit] 48.31] 72.00 | 95.69
90" |51/2"|15 1/4"|22 112" |33 114" |40 1/2"| 511/4" |58 172" |69 1/4" |76 1/2"| 87 1/4" 99 5T Shat 49541 7500 58 36
96" |51/2"[18 1/4"[25 1/2" | 36 1/4" | 43 112" |54 1/4" |61 112" |72 1/4"| 79 1/2" | 90 1/4" 103 172" 1272 | Tong |5008[ 73.00[ 96.92
100" |5 1/2"|18 1/4"| 25 172" |39 1/4" |46 172" |60 1/4" |67 172" |78 1/4"|85 1/2"| 96 1/4" 100 172" e
10'6" [51/2"118 1/4"125 1/2" |39 1/4" |46 1/2"[60 1/4" |67 1/2"|81 1/4"}88 1/2" {102 1/4" 115 1/2" 124 Long  |51.08] 74.00| 96.92
11'0" [51/2"|18 1/4" |25 1/2"|36 1/4" |43 1/2" (54 1/4" |61 1/2" {72 1/4"|79 1/2"| 90 1/4" | 97 1/2" | 108 1/4" 121 1/2" :gg Oaksi::m“ ;g'g; ;g'gg gggg
116" [51/2"]18 1/4"]|25 1/2"|39 1/4" |46 1/2"|60 1/4" |67 1/2"|78 1/4" {85 1/2"} 96 1/4" |103 1/2" {114 1/4" 127 1/2" 56 Tong 5117/ 75.00 | 98.63
12°0" |51/2"|18 1/4" |25 1/2"|39 1/4" {46 1/2" |60 1/4" |67 1/2" {81 1/4"188 1/2"|102 1/4"|109 1/2"|120 1/4" 133 1/2" 12:5 Oak Summit|50.56 75.00 | 99.44
12'6" |5 1/2" |18 1/4" |25 1/2" |36 1/4" |43 1/2" |54 1/4" |61 1/2" |72 1/4" |79 1/2" | 90 1/4" | 97 1/2" [108 174" |115 1/2" [126 1/4"|139 1/2" Lo SLQ:; T
13'0" [51/2"118 1/4" 25 1/2" (39 1/4" {46 1/2" |60 1/4" |67 1/2"{78 1/4"185 1/2"]| 96 1/4" |103 1/2" {114 1/4" {121 1/2"|132 1/4"|145 1/2" 128 |Oak Summitl 51,31 76.00 |100.69
13'6" [51/2"|18 1/4"125 1/2" |39 1/4" |46 1/2"|60 1/4" |67 1/2"|81 1/4"{88 1/2"{102 1/4"|109 1/2" 120 1/4"|127 1/2" {138 1/4"|151 1/2" 12 18 Is_h°" :gfg Z% 13;-;2
14'0" [51/2" {18 1/4"|25 1/2"|39 1/4" |46 1/2" |60 1/4"|67 1/2"|81 1/4"|88.1/2" (102 1/4"|109 1/2"]123 1/4"|130 1/2" (144 1/4"|157 1/2" 1770 103k gﬂﬂ,m“ 5506 77.00 [101.94
% ADDITIONAL STRUTS MAY BE ADDED TO DODOR WHEN GLAZED FOR COUNTERBALANCE PURPOSES 130 Short _ 153.00] 78.00 }103.00
130 | Long _ |54.10] 78.00 |101.90
130 |Oak Summit|52.81] 78.00 | 103,19
132 | Short  |54.00] 79.00 |104.00
1372 | Long  |55.10] 79.00 |102.90
732 [Oak Summit| 53.56] 79.00 |104.44
1374 | Short  |54.40] 80.00 |105.60
1374 | Long _ |54.90] 80.00]105.10
134 |0ak Summit|{54.31] 80.00 | 105.69
136 | Shot  |55.40] 81.00 |106.60
136 | Long  |55.90] 81.00 106.10
136 |Oak Summit| 55.06] 871.00 |106.94
138 | Short  |56.40] 82.00|107.60
738 | Long  |56.63] 82.00 |107.38
1378 |Oak Summit|55.81] 82.00 |108.19
1310] Shott _ |57.16] 83.00 |108.71
1310 Long _ |57.17] 83.00 |108.83
TABLE 3 1310 [Oak Summit]56.56] 83.00 |109.44]_
TABLE 2 170 | Shot  |57.76] 84.00 [110.11
140 | Long  |58.63] 84.00 109.38
DOOR SECTION FEIGHTS HEI)ECI)é),_FI?T - TRé\CK [;)A'I'I'AECHMENTG . SPLSICE xlg Oaksiz:mn g;;; :;% 1:(1):2?
HEIGHT |Btm | #2 | #3 | #4 | #5 | #6 | #7 | #8 56 o2 35 57 =5 142 Long  |59.17] 85.00 |110.83
= TN - PITR v T Eew T oy . TR YT 142 |Oak Summit|58.06] 85.00 |111.94
LR LA M 21.. 21,. MU LA 21., 7 ]10"[ 21" [ 42" | 63" 76" 144 | Shot |59.16) 860011274
13' 6 21" [ 21" 121" | 21" [ 21" | 18" | 18" | 21 e - - - - - - 1474 Long  [60.17] 86.00 [111.83
130 (20 27 217 18 |18 |18 [ 18" | 27" 7 ? 10“ 18" 36" 54" 72" 82“ 1::; Oaksizrﬂnmn gg,g; gs.gg :12.[1)?
176 127 18 18 18 18 118 |18 | 21" '8 _ 10“ 21" 39" 57" 75" 88" e Tong o717 5700 (11283
20" |21 |21 [ 21" [ 21" [ 21" | 18" | 21" 86" |10"] 21" | 42" | 63" | 81 94 14 6_[Oak Summi|59.56] 67.00 | 114.44
76 |21 |21 |27 [ 18 | 18" [ 18" | 21" 9 ]10"] 18" | 36" | 54" | 72" | 90" 100" T8 | Tosy ot 5 R T} B8 00 OB T
10 217118 |18 | 18" | 18" | 18" | 29" 9'6" |[10"} 21" | 39" | 57" | 75" | 93" 106" 1478 O3k Summit| 60.31] 88.00 | 115.69
106" |21 | 21| 21" | 21" | 21" | 21" 10 [10"] 21" | 42" | 63" | 81" | 99" 112" T e e
100" [21"|21"|21"] 18" | 18" | 21" 10'6" [10"| 21" | 42" | 63" | 84" [105" 118" 1410 |Oak Summit|61.06] 89,00 | 116.94
T " " " " " " ' " " " " " " " " 15'0 Short 61.94[~75.97] 90.00 {~103.97{117.94
96" [21"]|18"|18"| 18" | 18" | 21 1,1 . 10“ 21“ 39" 57" 75" 93“ 111" 124,, 50 | Long |46.60|"68.30] 90.00 [~111.70[133.40
90" [18"[18"[18"| 18" [ 18"[ 18" 116" |10") 21" | 42" | 63" | 81" | 99" [117 130 1570 _[Oak Summit]33.63]"61.81] 90.00 |118.16]146.38
86" 21" 21" 1217} 18" | 21" 12' 10"| 21" | 42" | 63" | 84" [105"1123" 136" ::5 ihon 62.66/76.83] 91.00 [~105.11 1:132.2(1)
T W W m W 0 W m 0 W 3 47.60{"69.30] 91.00 |*112.70{134.
80" |21"[18"[18"[ 18" ] 21" 12'6" 110"} 21" | 39" | 67" | 75" | 93" |111"[129"| 142 152 [Oak Summil34-73]763.56 9100 |16 44147 38
76" 18" {18"| 18" [ 18" | 18" 13' 10"} 21" | 42" | 63" | 81" | 99" |117"]135"| 148" 154 Short_ |53.60] 79.20 |104.80] 130.40
Y " 0 [0 0 r-X " " " " " " " n " 15'4 Long 47.25|769.63] 92.00 {*114.38]136.75
70 21" 21" 121" | 21 136" 110") 21" | 42" | 63" | 84" |105"|123"141"] 154 154 [Oak Summit|34.63|763.31] 92.00 |120.69|149.38
6'6" 21" | 18" | 18" | 21" 14 10" 21" | 42" | 63" | 84" {105"[126"|147"{ 160" 15'6 Short  |46.62|769.81| 93.00 |116.19]139.38
156 | Long  |47.60|%70.30] 93.00 |*115.70|138.40
ALL TRACK ATTACHMENT SPACING +/— 1.5 ALLOWED WITH SYP OR SPF NO. 2 OR BETTER ONLY 156 |0ak Summitl47.42]770.21] 93.00 |*115.79]138.58
1578 | Shot  |47.62|°70.81] 94.00 |"117.19]140.38
758 | Long  |48.60|"71.30] 94.00 |~116.70|139.40
1578 |Oak Summit| 48.02|"71.01] 94,00 [~116.99]139.98
15°10| Short  |48.62|"71.81] 95.00 |*118.19]141.38
1510 Long _ |49.17|72.08] 95.00 |*117.92|140.83
1510 |Oak Summit|48.62|771.81] 95.00 |*118.19]141.38
160 | Shot |49.62|"72.81] 96.00 |*119.19]142.38
160 | Long  |50.60|773.30] 96.00 |*118.70|141.40
160 |Oak Summit|48.42|772.21] 96.00 |119.79]143.58

A Stiles do notneed to be hinged

SIZE{ DRAWN BY  BHG

DATE 11/13/09

B | cHecken By co1

DATE  11/13/09

DRAWING NUMBER

IRC-6016~130-15-1

SHEET 3 OF 3




